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Add 3 numbers together in different contexts

1 What is the sum of 3 + 3 + 1? Tick 1 correct answer

5

6

7

2 What is the sum of the numbers in the bar model? Tick 1 correct answer

6

7

8

9

3 What is the sum of the numbers in the bar model? Tick 1 correct answer

8

9

10

11
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4 What is the missing addend? Tick 1 correct answer

2

3

4

5

5 What number is missing from this equation? Tick 1 correct answer

1

2

3

4

6 Alex chooses 3 of the number cards and adds them together. Which 3 cards did he choose
if he gets a sum of 12? Tick 1 correct answer

6 and 5 and 4

6 and 5 and 3

6 and 4 and 3

5 and 4 and 3
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